
ANSWERWITHEXPLANATION [SET–24]

1.(b)

2.(a)

3.(d)
12V 3M 441L21S8

=>12–3+441÷21×8
=>12–3+21×8
=>12–3+168
=>180–3
=>177

4.(b)

5.(d)

6.(b)

7.(b)

8.(d)

9.(b)
Sum ofpositionofMohan&Sohanfrom oppositeends
=15+20=35,i.e.lessthanthetotalnumberofstudents
(<54)Therefore,NumberofstudentsbetweenMohan&

Sohan=Totalno.ofstudents-(positionofMohanfrom
left+positionofSohanfrom right)⇒54-(15+20)⇒19

10.(c)
Heremiddleletterissame,firstpartreverseorderandlast
partreverseorder.

11.(c)

12.(c)

ii.Opposition
i.Optimistic
iv.ordinary
iii.organization

13.(b)
Troposphere,stratosphere,Mesosphere
Thermosphere,Exospherearethelayersof
atmosphereinsequence.

14.(b)
Pairofreverseletter.

15.(a)

16.(c)
19+2÷2+2–14
⇒19×2–2×2+14
⇒38–4+14
⇒48

17.(d)
14%2*3#8=31
⇒14÷2+3×8=31
⇒7+24=31
⇒31=31

18.(a)
(11+2)×6=78
(15+4)×8=152
(17+6)×7=161

19.(b)
11=2+8+1

=0+4+5
=9

20.(d)
3×2=6;6×3=18;18×4=72
5×2=10;10×3=30;30×4=120
7×2=14;14×3=42;42×4=168



21.(B)
Explanation:H >T<F=E≤V
ItcanbeconcludedthatV ≥F, E>TandT<V,however
no relationship can be established between H and V.
HenceB.

22.(E)
Explanation:D<R≤K >F≥J
ItcanbeconcludedthatK>D,howevernorelationshipcan
beestablishedbetween(JandR),(JandK)or(FandR).
HenceE.

23.(E)
Explanation:N=B≥W <H≤M
ItcanbeconcludedthatM >W.W canbeequaltoNor

lessthanN,howevernorelationshipcanbeestablished
betweenHandN.HenceE.

24.(A)
Explanation:R≤D≥J<M >K
Norelationshipcanbeestablishedamonganyofthegiven
conclusions.HenceA.

25.(E)
Explanation:M ≥K>N≤R<W
Itcan be concluded thatM > N ,howeverrestof
conclusionsarefalse.HenceE

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


